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In this article the problem of existence of conditionally asymptotically stable invariant toroidal set
for a system of linear differential equations defined in the space En × Tm is under consideration.
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ϕ̇ = a(ϕ), ẋ = A(ϕ)x+ f(ϕ), 	��

$ ���� ϕ ∈ Tm, x ∈ Rn, a(ϕ) 6 )�- ���$� $����
�� +������ �� m�$�!�
��!�
��
� Tm, 2π�-�
����"�� -� ��
��� ��!-������ ϕj, 	j = 1, 2, ...,m�� A(ϕ) � f(ϕ) 6
!��
�"�� �� $����
�� 2π�-�
����"�� -� ϕj +�����* $��-�$�����
���)���!� -������ ����$���� ��$�
������# !��
�� )������* �����!� ��+��


�����)���# 
�$���� $ -
����
� En×Tm. 2����"�!� "�
�� ϕt(ϕ) 
��$1���� -�
�
 ��� �� 
�$���� �����!� 	�� �����, .� ϕ0(ϕ) = ϕ, � "�
�� Ωt

τ (ϕ) 6 !��
�����
����
����* �����!�

ẋ = A(ϕt(ϕ))x, 	&�

��)�
��* $�� ϕ ∈ Tm �� $�� -�
�!��
�� 7�#�� C(ϕ), ϕ ∈ Tm 6 ��-�
�
$��
!��
���� 2��)���!�

G(t, τ, ϕ) =

{
Ωt

τ (ϕ)C(ϕt(ϕ)), t ≥ τ,

Ωt
τ (ϕ)(C(ϕt(ϕ))− E), t < τ

� 0���!� ����$��� +�����(3 8
����9�!��)���� �����!� 
�$����

ϕ̇ = a(ϕ), ẋ = A(ϕ)x,

(�� � ���
� 
"����� �
)��' *+,,' ���� ** ' - *



��� �����	��
 ���	��	����� 
������ � � � �

���� ����	
��
+∞∫
−∞
‖ G(0, τ, ϕ) ‖ dτ 
�
����
�� ��������� �� ϕ�

+∞∫
−∞

‖ G(0, τ, ϕ) ‖ dτ ≤ K <∞.

������� G(t, τ, ϕ) ����
������ ������� ��� �
� t �= τ  � �
� t = τ 
��� ���

��
�
 ��
!�	� 
��� �� ��
�����

G(τ + 0, τ, ϕ)−G(τ − 0, τ, ϕ) = E.

"��	������ ������� 
�
����

ϕ̇ = a(ϕ), ẋ = Ax+ f(ϕ), �#�


 ���� ϕ ∈ Tm, x ∈ Rn, a(ϕ) $ ���!���
� 
����
�� %������ �� m&
���
����
��
� Tm, 2π&��
����'�� �� ������ ���������� ϕj, �j = 1, 2, ...,m�( A ) �����
���
��� f(ϕ) ) 
����
�� 2π&��
����'�� �� ϕj, �j = 1, 2, ...,m� %������(

������� �� ���� ����	� 
���
	
 ���� ����	
� 

��� ����
�� A �����		�
��� 	��� Re(λj(A)) �= 0, (j = 1, 2, ..., n)� ��

��� Re(λj(A)) < 0, (j = 1, 2, ..., k)
� Re(λj(A)) > 0, (j = k + 1, ..., n)� �� ��� ������	�� 	�������	�� 2π�������

	��
�� ϕj, �j = 1, 2, ...,m� ��	���� f(ϕ) �
����� ��� �� �	�����	�	� ���������	�
�	�!
	� x = u(ϕ) � �� �	�!
	�  ����	� ��
�����

	� ������" ���	��	�
�����#� $��
���	�#� �	�#��
�� ��
�����
� %	�
�	�&

���������� "��	������ ������� ������
���� ������� 
�
���� ������� 
��
ϕ ∈ Tm �� 
�� ��
����
�

ẋ = Ax+ f(ϕt(ϕ)). �*�

+
�
����� ���
��, A �� ������	�, ��
�
������- �����- ���
��� S �� �����&
���	� 
�	�����

A = S−1diag(A−, A+)S,

�� A−, A+ $ �
��
���� ���
��� ������ '������ 
�����. ���'��� ���. � 
��/��&
���� �� ��������� 
����
����( 0����'��� ���
��,

G(t, τ, ϕ) =

{
S−1diag(eA−(t−τ), 0)S, t ≥ τ,

−S−1diag(0, eA+(t−τ))S, t < τ.

0��� ����
������ 
����
���� ����
���� �������

ẋ = Ax,

�� ��
���� 
��
�
 ��
!�	� 
��� �� ��
����� G(τ + 0, τ, ϕ)−G(τ − 0, τ, ϕ) = E.
�������

x∗(t) =

+∞∫
−∞

G(t, τ, ϕ)f(ϕτ (ϕ))dτ �1�

����� ������ ������� ��� �! "#$$! ��%� "" ! & "



� �� �� ����	�

��� ������� ϕ ∈ Tm 	 �
�����
� ��
 ���� t ∈ R ���������� �
����
 ���� ����
�����


+∞∫
−∞

‖ G(0, τ, ϕ) ‖ dτ <∞. ���

��������	����� �� �  ����� ������
 ���������� ��� ��������
��! "�������
�������


‖ eA−(t−τ) ‖≤ K1e
−γ1(t−τ), t ≥ τ,

‖ eA+(t−τ) ‖≤ K2e
γ2(t−τ), t ≤ τ,

�� K1 � K2 # ������� ������ 0 < γ1 < min
j
(−λj(A−)), 0 < γ2 < min

j
(λj(A+))� ��

‖G(t, τ, ϕ)‖ ≤ Ke−γ|t−τ |, �$�

��
 K = max(K1, K2)� t, τ ∈ R,ϕ ∈ Tm! %����

+∞∫
−∞

‖G(0, τ, ϕ)‖ dτ ≤ K

0∫
−∞

eγ·τdτ +K

+∞∫
0

e−γ·τdτ =
2K

γ
<∞.

&��
'��� x∗(t)  �
�����

x∗(t) =

t∫
−∞

G(t, τ, ϕ)f(ϕτ (ϕ))dτ +

+∞∫
t

G(t, τ, ϕ)f(ϕτ (ϕ))dτ

�� (�������� ����
(����)�*���'
 �� t ���
��	�� ẋ∗ = Ax∗ + f(ϕt(ϕ)).
+��������� ����,����� ����
� ' ���
����  �
����� x = u(ϕ), ��

u(ϕ) # 2π-������
.�� �� ϕj, �j = 1, 2, ...,m� ( ��)��! &��
'��� �/�  �
�����

x∗(t) = u(ϕt(ϕ)) =

+∞∫
−∞

G(t, τ, ϕ)f(ϕτ (ϕ))dτ,

� �����
�� ' ��� ���������� ����
� 

x = u(ϕ) =

+∞∫
−∞

G(0, τ, ϕ)f(ϕτ (ϕ))dτ.

��������	���� �  �����0 ��
�����
.��0 ���0����� ��������, �����������,
����,������, ����
�
!

1���0 x = x(t, ϕ, x0) # �������
0 ��������� �������� ���� � x∗(t) = u(ϕt(ϕ))
# ��������� )���� � ��������� �� ���
�� �� �����������0 ����
��! 2���
)�
)
� ���������� ��� ���	 �������������

x(t, ϕ, x0)− u(ϕt(ϕ)) = G(t, 0, ϕ)(x(0, ϕ, x0)− u(ϕ)),
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� �����
 ������� ������ ����� ���� �� �  �



��� �����	��
 ���	��	����� 
������ � � � �

�� � ���� �	
� ��
��� ��������� ��

lim
t→+∞

‖x(t, ϕ, x0)− u(ϕt(ϕ))‖ = 0, x0 ∈ Sk,

lim
t→−∞

‖x(t, ϕ, x0)− u(ϕt(ϕ))‖ = 0, x0 ∈ Sn−k,

�� � �������� �� ����������� ������� x = u(ϕ) � ������ ������������ �������
�������� ����������� ��������� ���������� ���� Sk� �� � ��� �!�� ��� � ��"
� �� ��#

$ ��� ϕt(ϕ) ����%"��� � �!��� �� ����"�& ���� �� �'
 ������ �� ϕ0(ϕ) = ϕ,
Ωϕ ( ω��������� ������� )&��� ����%"���# *� ������� ��������� �� +,-� Ωϕ � 
������" ������� ��" ���� ϕ ∈ Tm � ���� ������������ .������� �������� Tm#
/ � � Ω ��������� �
%������" ���� Ωϕ0 Ω = ∪

ϕ∈Tm
Ωϕ.

$�� )�������� �������� ���� �������� .���)�" A(ϕ) �� ������� Ω � ����
��� �����) � A(ϕ) = A ��" ���� ϕ ∈ Ω. 1 �������� �� ��" ���� ϕ ∈ Tm

lim
t→∞

A(ϕt(ϕ)) = A.

������� �� ���� ������	 
�
�
�	 ��� � ���
��������� � ���
�� �	
����
�
�� ��	
��� ��

� ��	������ �	����� A �������� ��� ���� Re(λj(A)) �=0,(j =
1,2, ...,n)! ������� Re(λj(A)) < 0, (j = 1, 2, ..., k) � Re(λj(A)) > 0, (j = k+1, ..., n)!
�� ��� �����"��� �
�
�
����� 2π#�
��������� �� ϕj, �j = 1, 2, ...,m� $������ f(ϕ)

�
�
�	 ��� �	� ���	��	���� ������	�"�� ���%��� x = u(ϕ)& '��� ����! �
���
���� En �
����" ��������� Sk � Sn−k, ���������� ������� k � n − k! ��
���"#���� ��(�)�(�� ϕt(ϕ), x(t, ϕ, x0) 
�
�
��

ẋ = A(ϕt(ϕ))x+ f(ϕt(ϕ)) �2


(	�����"��� ��	����� 
��������*
��� 

lim
t→+∞

‖x(t, ϕ, x0)− u(ϕt(ϕ))‖ = 0, x0 ∈ Sk,

lim
t→−∞

‖x(t, ϕ, x0)− u(ϕt(ϕ))‖ = 0, x0 ∈ Sn−k.
�3


���������� 4����"� �� ������� � ��������� ���� �� ����"�& �2
� ��� ���
��� ϕ ∈ Tm "� ��� ����� ���#

$ ����!���� �����&����� ��������&� ����� �������� �� �����)� A(ϕ) � A

��������������&��0

A(ϕ) = diag

(
A−(ϕt(ϕ)) 0

0 A+(ϕt(ϕ))

)
, A = diag

(
A− 0

0 A+

)
.

5�������� � � � Ωt
τ (ϕ,A−) � Ωt

τ (ϕ,A+) �����)���� ���������� ���� �

ẋ1 = A−(ϕt(ϕ))x1,

�
ẋ2 = A+(ϕt(ϕ))x2,

����� ������ ������� ��� �! "#$$! ��%� "" ! & "



� �� �� ����	�

����������� ��	 	
�� 
���������� ����
�

‖Ωt
τ (ϕ,A−)‖ ≤ Ke−γ(t−τ), t ≥ τ,

‖Ωt
τ (ϕ,A+)‖ ≤ Keγ(t−τ), t ≤ τ,

����

��� ��	
�� K ≥ 1 � γ > 0 �� ��� �����	
�� t, τ ∈ R, ϕ ∈ Tm. ��
�����

����������
�� ������ � �������
��! ����" #�	 ���$� ��������� ���
�����	�
�����$�%�� �� ��������� � &'("

#�!
��� ��������� Ωt
τ (ϕ,A−) ����

�) ����$������ ����
�������	

Ωt
τ (ϕ,A−) = eA−(t−τ) +

t∫
τ

eA−(t−s)(A−(ϕs(ϕ))− A−)Ωt
s(ϕ,A−)ds. ����

*�
 	
 ��� ��	
�� K ≥ 1 � γ > 0∥∥eA−(t−τ)∥∥ ≤ Ke−γ(t−τ), t ≥ τ,

� ��� ��
������ ����
��� T � ��
��� ������ a

‖A−(ϕs(ϕ))− A−‖ ≤ a,

��  ���� ��)��

∥∥Ωt
τ (ϕ,A−)

∥∥ ≤ Ke−γ(t−τ) +

t∫
τ

Ke−γ(t−s) ‖A−(ϕs(ϕ))− A−‖ ‖Ωs
τ (ϕ,A−)‖ ds,

eγ(t−τ)
∥∥Ωt

τ (ϕ,A−)
∥∥ ≤ K +

T∫
τ

Keγ(s−τ) ‖A−(ϕs(ϕ))− A−‖ ‖Ωs
τ (ϕ,A−)‖ ds+

+

t∫
τ

Kaeγ(s−τ)‖Ωs
τ (ϕ,A−)‖ds,

�� ����� � 
��� ���� +���������,�������  ��������∥∥Ωt
τ (ϕ,A−)

∥∥ ≤ K1e
−(γ−Ka)(t−τ),

��

K1 = K +

T∫
τ

Keγ(s−τ) ‖A−(ϕs(ϕ))− A−‖ ‖Ωs
τ (ϕ,A−)‖ ds.

#��$� � �������
��! ���� ����� ����
�� �����$�%���� ���
�����	��" �� ���
%��� %��� 

G(t, τ, ϕ) =

{
diag(Ω(ϕ,A−), 0), t ≥ τ,

−diag(0,Ω(ϕ,A+)), t < τ.
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��� �����	��
 ���	��	����� 
������ � � � �

�� �������	
�� �
�� ��������� �� G(t, τ, ϕ) ����������� ������

‖G(t, τ, ϕ)‖ ≤ Ke−γ|t−τ |, �
��

���K ≥ 1, γ > 0 
� ��� �������� � t, τ ∈ R, ϕ ∈ Tm. !��"���#$� ��� �
�� �� �

+∞∫
−∞

‖G(0, τ, ϕ)‖ dτ ≤ 2K

γ
<∞.

�� �	
�����% �������	
� 	������ �� ��� ��&��'� ϕ ∈ Tm (������

x∗(t) =

+∞∫
−∞

G(t, τ, ϕ)f(ϕτ (ϕ))dτ �
)�

� �� �&��� ��� �	�" t ∈ R ����*���� 	�	
� � �+�,
��������
�� 
���%������  ��&��� -���
� � � � ��'���� x = u(ϕ), ��

u(ϕ) . 2π��������$�� �� ϕj, �j = 1, 2, ...,m� (������, /���-� � �
)� � ��'����

x∗(t) = u(ϕt(ϕ)) =

+∞∫
−∞

G(t, τ, ϕ)f(ϕτ (ϕ))dτ,

� ����&� � -����� ��������
��  ��&���

x = u(ϕ) =

+∞∫
−∞

G(0, τ, ϕ)f(ϕτ (ϕ))dτ. �
0�

1���&� �� �� ��������
��� 
�� �
0� ��	������������ ��"�
� �$���, 1����$� �
$���� x = x(t, ϕ, x0) = Ωt

0(ϕ)x0 . ��'������ ����*���� 	�	
� � ������� �+��
Ωt

τ (ϕ) = diag(Ωt
τ (ϕ,A−),Ω

t
τ (ϕ,A+)), !�����	
���#$� ���	
���	
�  �
���� Ω

t
0(ϕ)

��� ���'� ����*���� �
�� �� � ������

‖x(t, ϕ, x0)‖ = ‖Ωt
0(ϕ)x0‖ = ‖Ωt

τ (ϕ)Ω
τ
0(ϕ)x0‖ = ‖Ωt−τ+τ

τ (ϕ)x(τ, ϕ, x0)‖ ≤
≤ ‖Ωt−τ

0 (ϕ)‖‖x(τ, ϕ, x0)‖ ≤ Ke−γ(t−τ)‖x(τ, ϕ, x0)‖,
	���������� ��� �	�" t ≥ τ, x0 ∈ Sk � ��������'� ϕ ∈ Tm, 2����'�$��  �&��
������
�� ��

‖x(t, ϕ, x0)‖ ≤ Keγ(t−τ)‖x(τ, ϕ, x0)‖,
��� �	�" t ≤ τ, x0 ∈ Sn−k � ��������'� ϕ ∈ Tm, 3��'� ��	
�
��� ��� ��	������
�������% 	
����	
� ��������
��'� 
���, 1���&� �� �� '����$�� 	��������-����
�4�  �#
�  �	��, 5�"�� x = x(t, ϕ, x0) . ��������� ����*���� �������� �+�� �
x∗(t) = u(ϕt(ϕ)) . ����*���� ���'� & ��������� �� ��&�
� �� ��������
���  ���
&���, 6������ ��" ����*����� ����	��� ����	
�������

x(t, ϕ, x0)− u(ϕt(ϕ)) = G(t, 0, ϕ)(x(0, ϕ, x0)− u(ϕ)),

� � 	��� �
�� ���� � ��	������ �� �����	
� �4�  �#
�  �	��� �� � �����-��
��������� 
���� �,

����� ������ ������� ��� �! "#$$! ��%� "" ! & "



�� �� �� ���	
�

�������� ��������	� 
�
��	
 �������

ϕ̇ = sinϕ, ẋ = A(ϕ)x+ f(ϕ),

��������
 �� E2 × T 1, f(ϕ) � �������� ���������� 2π����������� �� ϕ �
��
����� ���������
�	� ����� �� ������� 
�
��	� �� ����	��	� ��������� ���!
����������� ��������
 
	��
 ϕ0(ϕ) = ϕ

ϕt(ϕ) =

{
πm, ϕ = πm,

2 arctg(tg ϕ
2
· et), ϕ �= πm.

"�#�!

A(ϕ) = A =

( −1 0

0 1

)
, f(ϕ) = sinϕ. $%&'

�������	�

G(t, τ, ϕ) =

{
diag(e−(t−τ)), 0), t ≥ τ,

−diag(0, e(t−τ))), t < τ
,

� ������ �����	� % ����	��	�

x1 = u1(ϕ) = − 1

tg ϕ
2

· ln(cos2 ϕ
2
), x2 = u2(ϕ) = tg

ϕ

2
· ln(sin2ϕ

2
).

(����
�������) ���������) 	�*�� ����������
� +� x1=u1(ϕt(ϕ)) x2=u2(ϕt(ϕ))
� ���������	 
�
��	�

ẋ = Ax+ sinϕt(ϕ).

"�#�!

A(ϕ) =

( − cos2 ϕ 0

0 cos2 ϕ

)
.

,
������ �����* �����������- �����- ϕt(ϕ) 
���������� �������� 
	���

lim
t→∞

cos2 ϕt(ϕ) = lim
t→∞

cos2(2 arctg(tg
ϕ

2
· et)) = cos2 π = 1,

�� 	������� �
����� A(ϕ) �� 	��*��� Ω = {π} � 
����) 	������) ������
 $%&'
� ������ �����	� . �
�
� ����������� 	��*��� �������
����- 
�
��	�� /��!��	�
�
���	�������
 	�����) 
�
��	�

ẋ1 = − cos2 ϕt(ϕ) · x1, ẋ2 = cos2 ϕt(ϕ) · x2,

��0�� 	������

Ωt
τ (ϕ,A−) = e

−
t∫

τ
cos2 ϕs(ϕ)ds

, Ωt
τ (ϕ,A+) = e

t∫

τ
cos2 ϕs(ϕ)ds

.

1�������� ����)� ���0#����# �0��
����

cos2(2 arctg(tg
ϕ

2
es)) =

(
1− tg2 ϕ

2
e2s

1 + tg2 ϕ
2
· e2s

)2

,

��
�� ������ ������� 
���
� ����� ���� �� � � �
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 ���	��	����� 
������ � � � ��

t∫
τ

cos2ϕs(ϕ)ds =

t∫
τ

(
1− tg2 ϕ

2
e2s

1 + tg2 ϕ
2
e2s

)2

ds = t− τ +
2

1 + tg2 ϕ
2
e2t
− 2

1 + tg2 ϕ
2
e2τ

,

������ �������	
 �� �
	��� ����������� ������� ��� ������

x1 = u1(ϕ) =

0∫
−∞

Ω0
τ (ϕ,A−)f(ϕτ (ϕ))dτ = e

−2

1+tg2
ϕ
2

0∫
−∞

eτ · e
2

1+tg2
ϕ
2 e2τ · f(ϕτ (ϕ))dτ,

x2 = u2(ϕ) =

+∞

−
∫
0

Ω0
τ (ϕ,A+)f(ϕτ (ϕ))dτ = e

2
1+tg2

ϕ
2

+∞∫
0

e−τ · e
−2

1+tg2
ϕ
2 e2τ · f(ϕτ (ϕ))dτ.

�	��
 �����	���
 ����� f(ϕ) = sinϕ
 ��
 ������
��� ��������������� �����

��������

sinϕτ (ϕ) = sin
(
2 arctg(tg

ϕ

2
· eτ )

)
=

2 tg ϕ
2
· eτ

1 + tg2 ϕ
2
· e2τ ,

���������

u1(ϕ) =

0∫
−∞

Ω0
τ (ϕ,A−) sinϕτ (ϕ)dτ = e

−2

1+tg2
ϕ
2

0∫
−∞

eτ · e
2

1+tg2
ϕ
2 e2τ · 2 tg ϕ

2
· eτ

1 + tg2 ϕ
2
· e2τ dτ,

u2(ϕ) =

+∞

−
∫
0

Ω0
τ (ϕ,A+) sinϕτ (ϕ)dτ = −e

2
1+tg2

ϕ
2

+∞∫
0

e−τ · e
−2

1+tg2
ϕ
2 e2τ · 2 tg ϕ

2
· eτ

1 + tg2 ϕ
2
· e2τ dτ.
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